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:1 3 15 MULTIPLE CHOICE QUESTIO&S (SELF PRACTICE)

.,,‘ «\’

'Electric Current. b . .
Q.1 An electnc current a caused by the motlon of:

~ *Electric drscharge - v Electric. charge
FVolt L LR None of these e B o
Q.2 The rate of transfer of charges through a circuit is called: * . (2‘006) :
“m" % Resistance . T -)"C'urrent '
_* Potential difference™ * sl ‘All of these wlE ) o
Q3 Electrlcal conductors’ contam':" : ; ‘ (2003 P. E)
' __.* Only free electrons’ R, Only bound electrons . :
v Both free and bound electrons  * Nerther bound nor free electrons

lQ 4 _If a net charge Q passes’ through any cross section of a conductor Jin time t
“‘then the elecmc current establrshed through the conductor i isI=s""

. y(j‘:t ok b * B n % Gt
Q5 ~The S.T unit of current is: Ak
.. “*Electron volt * * Volt o V'/Ampere CANNY Voltage AR
Q6 The current dgg g ﬂgw of charge at the: rate of one coulomb per second 1s
.. kncalled: . ; £
" * Electron volt -~ * Volt b V*’Ampere - Voltage
Q.7 Charge carrier in"Metallic conductors are-the electrons of: L
S Valence shells * All shells % Exc1ted states ‘* Inner shells
Q 8 - Free electrons in an Elggugﬁg[dmoves from: eyt St
© - .o* All potentials .+, ) * High Potential to low. potentlal L

. ow potential to hlgh potentral Tk None of these

Q. 9 The drift veloc1ty is of theorderof: 7" |

' ¥ 1()5 ms ,' .o 10?’ms'l g ¥ 10 ms™ ) V/O ms ‘,. s

Q. 1;»2 0 'x 10® electrons pass" through a conductor in- 5 Ous. Electromc _charge .is.
1.6 X 1075, The currentin ampere followmg through the conductor is: :

CUF 16X 109A L *26x10%A  *36x10°A \/6'4x10f"
9,9‘ Which of the followmg represents and’ electnc current i
= Ergc L WVOSTT L i gl sk Dyne s o
Q 12 f 1 ampere current flows 2m long, conductor the .charge ‘flow through this is
1 hour will be: , o
V3600C *7200(: co .A*1c L o*2C
Ohmsl.aw' R

Q.13 The current ﬂowmg through a conductor is dlrectly proportlonal to the potentlal

drfferenco across its ends prowded the physncal state of the conductor remams .
constant this is: : , :

: “* Newton’ ) Law e * Coulomb s Law
* Maxweéll’s Law .. ~ B-Ohm’s Law
Q. 14 Symbolically Ohm’s Law can be written as: ' .
le L *Toe Jy okl L C lav

Q 15 In the relatlon 1 = KV K stands for: .. » .
\J'fonductance B - e * Resistivity
* Specific Resistance ., . - . * Permeabilitv
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| Q.16 Ohm’s Law is obeyed in: o - : (2003 P.E)

- * A semiconductor . * A metallic conductor
* An-electron tube L v#1In all of these
Q 17 The graphical representation of Ohm s Law is: ‘
* Hyperbola * Ellipse” -~ * Parabola - lr""'Strarght Line
Q.18 If R is the resrstance of the conductor then Ohm s Law can be written as:
B *V“" * =5 *. :_l_ “(V—-IR

R AT G A
| Res:stance and Resrstlwty R L

J Q 19 The measure of the opposition to the rnotlon of electrons due to therr contmuous )
-'"’bumpmg with the atom of the lattice is the & oy R

) WResmtance * Fnctlon i 'Voltage o * * Work
Q 20 The S.I'unit ofresrstance
T ¥ Volt . * Ampere N * mho V"Ohm

; Q 21 If a current of 1 ampere flows through a conductor where a potential dlfferencej"?”
- of I volt is applied across its ends  then’ res1stance of the conductor i is: ) ’

Sk Ohm ' " v*1] Ohm’ j‘:" *20bm” . \J *30hm
Q.22 The symbols of Ohm i is: T e W .

‘Q 23 A sample of conductor is saxd to obey Ohm s Law 1f its resrstance R
- * Increases ,', R : * Decreases L R
5 ¥Remains’ constant N w None of these e
Q 24 Resrstance of conductor depends upon: . ]
“*The potential dlfference between'its ends .
“* The magnitude of the current ﬂowmg through it - R i
-* The nature only RN G e i o
The nature, d1mensron and physwal state.of the conductor S ,
’Q 25 A wire ‘of length’ L and resrstance R is cut mto four equal preces
- Resrstance of each prece would be:* S o

o R W R I 2R
Q 26 The resrstancc ofa conductor of length L cross sectlonal area A and reststrvnty P
lS grven by: , ST oo PR o
o R pA/L V/p— S R:JL-., s R_i_. »

e AT LA - o pL o TR

Q. 29 A plece of wire of length “L” and an area of Cross- sectlon “A” has a- resrstance\

' “R”. Another piece of wire of the same material and’ the same length but twice’
. the area of. cross-section is connected end to-end with the prevlous wire.

‘The effective resistance is: * - ‘

<% R . X 2R o \)'//3R ¢ B *_ I/2R
Q 28 Volt per Ampere is: . 2 ‘
v Ohm oo Toule o Watt U Kwh st
Q.29 The reciprocal of the resistance of conductor is called LT e DR
/eﬂﬁc resistance” R Current E A
Conductance L *lVoltage

Q30 The unit ofconductance st T
' * Ohm = * Metre * Ampere ' \}m/hc)uo'r siemens - .»
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Q 31 The resrstance ofa meter cube ofthe substance 18 called: ,
' * Conducttvrty ¥ Perrmtlvrty v’”‘Resrstrvrty - * Susceptibility

’Q 32 The” resrstlvrty of the materral havmo the resrstance R cross sectlonal area
A and length L is glven by L

= RAL & =— @ *p=—T"
- ' tes *"p’L PeRA
Q 33 The S'I unit of resrstlvxty 1s Ly e '
; * Ohm =m? S - V“/O'hm m o * Ohm

Q 34 A COpper wire having resrstmty “p'is st s__etched in such a way that its dtameterb
B reduces 1o half of that of the' orlgmal wire. The new resrst1v1ty will be: -
.. *Halved " 2% Doubled \iVThe same ;. - * Four fold. - _
Q 35 A wire: of a umform cress sectlon area is cut’ mto three equal segments “The
res1st1v1ty “p” of each segment will be: s
S A o *2/3p X .
WShme as that of the wholé s w1re s ‘Three times'as that of the whole wrre -
Q 36 If the wire of a uniform’ area of cross, sectlon is cut mto,v two equal parts, the
re51stlv1ty of each part wﬂl be s SR

s Doubled
* None of the above . )
i Llength and one square meter m .€ross

Pty A

L*’Rernams the. same

Q 37 Resistance of a substance (
wSectional : area, is called: .

* Conductlvxty ""ﬁeslstn‘dty o, Reactance
Q.38 When the temperature of a conducto ‘raised its res1stance
1,lways decreases e AIWays increases .

L Remams the same BN '*‘F irst 1ncreases and then decreases

The res1stance of the. conductor increasestdue to the rise of temperature of'a™
"sconductor because the collision: cross section of the atoms .

* Decreases .| "V“/fncreases ) L
*Remains unchanged , ’?r,someume mcreases and sometrme decreases '
Q.40 The temperature co-efﬁctent of res1st1v1tyrof a material is given by the relauon:

e @_Lo)
T poAT

%= o (57 po) /AT " % o= AT (pr - po)po
.Q 41 The temperature co- efﬁclent of re51sta ce ofa material is grven by the relatron:

A8

) 'p AT/ pis po

_ R AT
(R Ro)
AT(R RO)
R Ry
@ The S.I un1t of the temperature co-eff crent of Tesistivity of mater1a1 is:

. ks Ohm m
Resustance in Senes.

Q 43 If the resrstance are connected’ end to end such that the same current.passes
through all of them then they are satd to be connected R
e Parallel PR i B W§3r1es ,
* Not in Series R ok Neither in Series nor parallel

‘*Ohm K

i

]
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Q.44 If equivalent resistance R of the resistance R, Ry, Rj is series is R =:
s Ly L LW R R R V‘{,’+R2+R3 *Ri Ry Ry
Rl RZ R3 RZ R3 : 4 .
Q.45 The potential difference across each resistance in series combination is:
;- * Same > Different ‘_ * Infinity - * 7ero
Q.46 When the resistance are connected in series, the equivalent resistance is always:
' V”Greater than the greatest resistance in serles
* Equal to the greatest resistance in series. , ,
* Less than the largest resistence in series -
* Less than the smallest resistance in series -
Q 47 When the resistors are connected in series then:
\/f he total current through each is the same
* The voltage across each is the same™ "~ :
“* The total resistance is the sum of the rectprocals of the 1nd1v1dua1
* The total resistance is the product of the individual resistors :
'%Q 48 Resistors of 2 ohm, 3 ohm, 4 ohm and 5 ohm are connectéd in series. If the current
. through the 2 ohm resistor is one ampere thé current through the other resistors will be:
* 4 ampere | ) \’/ampere ~ * 14.ampere, * 0.1 ampere-
' A'piece of wire of length “L” and an area of cross- sectlon “A” has a resmtance
R Another piece of wire of the same material and the same tength but twice -
the ‘area of cross-section is connected end—to end wrth the prevrous wire. The
effectxve resistance is: ;

i

*R" %2R W3R IR
+Q.50 If Net resrstance of resistors mcreases then resistors are in:
¥ Parallel combination” V'//enes Combination

S Snmultaneously in series,and in parallel eombmanon )

i X, Elther in serles orin parallel combmatlon ’
Q.51 ML AR, / FUPRE T
In the ﬁgure above the equlvalent re51stance is:.
*30° v 400 *2Q e
Q. 52 ‘hree resistance 5000, 500, 50 ohm are connected in series across 555 volt
mains; The current ﬂowmg through them will be: S

: *lA 100 mA *10 mA SO*10A
Reslstance in Parallel 4 '
Q.53 If the re51stors are connected side by srde with- their ends Jomed together at

comnion point, then they are said to be connected: "

3

Q

- prFarallel : N i
* Not Parallel o ' * Neither in Series nor ‘parallel
Q.54 The equwalent resistance R of the re51stance R|, Ry, R3 connected parallel
isR: ™ S L
1)/ +—~+—— R LRGBS R,+R‘2-’+’_R3 “*R, Ran;
R, R - R, R, R .

3 vll ) : N
QSS The potentral d1fference ‘across each resmtance are connected is parall 1

combination:

\/*S.&ne S *Dxfferent"- : *Inﬁmty < % Zero
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Q.56 When the resistance are connected in parallel, the equivalent resistance is always:
+ - * Greater than the sum of the individual resistance :
* Greater than the smallest resistance in combxnanon
- * Equal to the sum of the individual resistance , )
w71 ess than the smallest resistance in the combmatlon i :
Q 57 In a house circuit all the elecmcal apphances are connected in garallel wrth the
- phase and the neutral to get: :
The same current and dlfferent potent1a1 dlfference
: V"’Fﬁe different currents but the same- potential dlfference‘—-\%
7 = * The different currents and different potential differences
ke “* The same current and the same potentral dlfference L
.Q 58 The resistances of 2 ohms 5 ohms, 7 ohms ‘and 9 ohms are connected in parallel
- If the potential dlfference _across “the 5 ohms ‘resistance is 5V, the potentral
drfference across 9 ohm fesistance will be:+ '

L

LRV f VBV s ) 5V o T f 1.5V : ;
"‘Q 58(a) Resistors 07 30, 5Q: and 7Q are connected in parallel If the P D across: 50
57 resistor is 6V the P. D across the other resisfors is: o\ (2013)

~*4 Volt . {6 Voit- *8Volt™ %10 Volt

hree resnstors of resistance 2 3 and 6 ohms are connected in parallel thelr
equrvalent resistance is:-a. e
oo*%.11.0 ohm  w%*1. 33 ohm- ey

1.5 ohm‘_'_i_‘ 1.0 ohm IR

If the ﬁgure above the equwalence is; \)/-2370 e %Q * %Q‘,”’*‘;6Q

:Power Dlssmatlon in Resistance: i
Q. 61 As the charge flows through the conductor energy is d1551pated is the form of:

eat - -t * Solat energy - * nght * None of these
Q. 62 One-Kilo- Watt-Hour is equal to: .
WA6x10° . -*360x10% . *3.6x10% g~'*36x’105] ,
Q 63 The power d1351pated b a resistance is given by
.*¥P=VR . (. = V¥R L wEP= IR* o * None of these

Q. 64 The power dissipated in a resistance is grven by: -

VIV TR VHRS /-

Q.65 The elecmcal energy drssnpated as heat in a resistor is given bzy

*PR.C ¢ e L EVIRD VRt
Q.66 The commerc1a1 unit of electrical energy is: o o
* Ohm- - oWatt - WKﬁc‘)watt Hour * Ampere

Q.67 Two wires of resistance R, and R; are connected i series in a circuit. If R, 15,
- the greater-than R,, Heating would be: .
W/More inR, . *MoreinR, ¥ Same in R. &Ry* * All of these. -

Q 68 When a resistor carries, a current “I”, the power dissipated by it is “P”. If the

‘same Tesistor carries the’ current of “31”, the power dissipated will be: .~

L RP T CEP3 P“’JF— = - * None of the above
Q.69 Unit of Power, Joule / Secoud is calleds >

“*Joule 0 *Volt .- Vv Wat * Newton
Q.70 If one ampere current flows through a resistor agamst potential drfference of one

‘volt, this is called: v .
* Ampere VV(I’{ ’ * Volt * Joule
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Q.71 The practical unit power is:

* Watt SKlowatt . *Joule * None of these
Q.72 One Kilowatt is equal to: - N '
* 10° Watt * 10° Watt EAD° Watt . * None of these

Q.73 Amount of energy delivered by the current in one hour when it supphes energy at
the rate of 1000 J/S is known as:

_* Joule c. e KWh - - *Newton - * None of these
Which one of the following bulbs has least resistance? '
* 100 Watt _ *200 Watt .. w500 Watt .~ * 60 Watt

75 If a 40 watt hght bulb for 2 hour, how much heat is generated"

%800 * 400 J o *288x10°F © ¥360017
@l‘ he resistance of 60 watt bulb is a 120 volt line is: -
7 *300ohm . *1200hm  *240chm ~ *60ohm
Electromotwe Force: = ‘
The work per umt charge done by the source m movmg a charge around a closed
loop_is called: AT
Flectromotive force - . Potenual dlfference

"% Potential energy -2 * Kinetic energy .
Q 78 The total energy expended per coulomb of electncrty when charge is. driven

round a circuit is called:

- ¥ Electromotive force - , _*;Electromotlve source
* Potential energy o % Kingtic energy
Q 79 The unit of electromotive force ist o o
* Coulomb per second - 2% Joule per second
oule per coulomb o “* Volt per ampere
Q.80 By electromotive force: N o ‘ Tt
) * Light is produced A\~  * Heat is produced
urrent is produced ‘ * Sound is produced
Q.81 Yhe terminal potential difference V, of a battery is always:
~==" * Equal to emf of the battery W Téss than emf of battery
‘% Greater than the emf of battery ~ * Zero "
Q 82 lntemal resistafice’is the resistance offered by: ) ‘
ource ofemf * The conductor * * The circuit -~ * Ihe reSIStance
@T erminal potermal dlfference Vt of a battery of mtemal resistance “y’ and emf’
‘E’isi . L (2011 Supp ) .

* V2 E+Ir \/V/E It Vi= EIr_:«-' *Vi=EL

L L
.84 \T'he emf of 4 source is equal to the potennal dlfference across the termmals of the

source when its internal resistance is:~ Lo 001
Mro o7 *vVeryhigh - - * Very 10w ' “* None of these

Q.85 The EM.F. of the three cells each of 2 volts m parallel W111 be: e

VTR gy T Kk 8V ) \"}‘E‘V LR ke ZeroV

Q.86_Total”~ potentlal dlfference across the - combmatlon of three cells becomes

ke ymum when: i S (2003 P. M)

: All the three cells are connected in series N g

"% All the three cells are- connected in parallel

* Two cells are connected in para'ﬂel\a.d\the/thxrd cell in series wrth the
> combination. - . : .

f % Two. cells are connected in serres and the third cell in parallel with- theu
s combmatlon :
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ANSWER KEY

1. Electric Charge -

2. Current
3. Both free and bound eIectrbns 4, ? .
5. Ampere - 6. Ampere
7. Valence shells 8. Low potential to high potentlal
9. 10°m/s 10. 6.4x10° A
11.C87' LT 12.3600 C
13. Ohm’sLaw .. . ' 14.1c V. :
15. Conductance Lo 16. In all oftheae .
7. Straight Line -~ .~ - 18. V=1IR -
19. Resistance S 20. Ohm
21. 1'Ohm 22.Q

23. Remains Constant

24, The nature dimension and physrcal -
state of the conductor

|25 R4 e 26. Rsps
_ 2,7' 1/3 R 28. Ohm
-29. Conductance 30. mho or semen
HET Resisﬁvity |32 5224
[33. Ohm -m... 34. The same"

35. Same as that of the whole wire

1'36. Remains the'same

<1 37, Resxstmty

39. Increases © = v S

38. Always increases

40, oo Pr=p) -

pLAT -

Rr - R, ° P

41' = sR Al': A IR 42'K l
43, Series .- e 44.R, +R; + R;.

45. Different =

46. Greater than the greatest resmance in series™’

48 1 ampere ;

47, The total current through each is the some

49. ,50. Series Combination A
. 6.Q 52.10 A
| 53, Parallel 54. R’_,, Rl_,fR[* )
R 56. Less than the smallest resistance in
55, Same : e el _
combination - -

1 57. The dlffereqt current but same potentnal
differenice L

58.5V '58(a). 6V

59. 1.0 ohm v 60. 2.

61. Heat 62.36x 10°J.-
- 163.P=VYR 64. All of these

65. Ith B I 6. Kilowatt Hour
1'67. MoreinR; .. i . 68.3 P.

69. Watt ' 70. Watt

71. Kilowatt 72. 10° Watt

73. KWh 74. 500 Watt

75.288 % 10° J

76. 240 ohms

77. Electromotive Force

| 78. Electromotive Force

-1 79. Joule per coulomb

80. Current is produced

81. Less than emf ofbattery

82. Source of emf

83. Vi=E-Iy,

| 84. Zero

85.2V

86. All the three cells are connected is series™
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15.14 MULTIPLE CHOICE QUESTIONS (SELF PRACTICE):

Galvanometer:
(1) An devise used for the detection and measurement of current is called:
* Galvanometer  * Voltmeter * Ammeter * Avometer
(2)  The working of a galvanometer depends upon the:
* Force exerted on the coil * Torque exerted on the coil
* Mass of the coil » * Area of coil
(3)  Galvanometer is based on the:
* Electromagnetic efféct of current * Chemical effect of current
* Magnetic effect of current * Heating effect of current
(4)  The current passing through the coil of the galvanometer is:
* Inversely proportional to the angle of deflection of the coil
* Independerﬁ of the coil o
* Directly proportional to the angle of deflection é)f the coil
~* None of the above '
(5)  The galvanometer constant is given by: R
*C/NAB *NAB/C *.NAC/VB' - *NB/AC
(6) The galvanoﬁxeter can be made sensitive by making the valué of factor C/NAB:
o Large ». % Small . * Ze;ro o * Infinite -
() T_he sensitiyity of a galvanometer can be increased by increasing: . (2008)
' * Magnetic field *)_Area of éoil . * -NumBéf of turns . * All of them
® 1= EIS—A 6 Hence'to increase the sensitivity of a galvanometer, we must decrease the value of:
g - N «B o we
'(9) ‘The unit of leas‘t;coun't ona galvanométer séale represents: B .
 *Division * Ohm *Volt' | *Henry
(10) When the coil of the galvanometer in equi‘librium,.thcn the deflecting couple is:
* Zero * Equal to the restoring couple
* Greater than the restoring couple * Smaller than the restoring couple
Ammeter:
_(.ll) A device which is used to measurement of current is called: 7
* Ammeter * Voltmeter * Galvanometer  * Avometer -
(12) A galvanometer is converted into an ammeter by connecting a suitable:

* High resistance in series * Low resistance in parallel
* High resistance in parallel * Low resistance in series
(2008, 2003 P.E, 2002 P.E, 2001)
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(13} To conveit a galvanometer into an ammeter the shunt resistance is given by:

LR, - ] IR, ! -1, 1-1,
* RS:_-_S * Ry = g ¢ * Rsz.-._]_L_Rg *_I_R_

Tle ¢ ¢ ey

(14) In order to increase the range of ammeter the shunt resistance is:
* Decreased * Increased
- * Kept constant | * Sometimes increased and sometime decreased
(15) In a circuit Ammeter is always connected in:
* Series ' * Parallel
* Both series and parallel * None of these
(16) A good ammeter is one which:
* Can measure both alternating and direct current
* Has very small internal resistance
* Has very high internal resistance
* Has linear scale of measurement
amn A device which is used to measurement of voltage is €alled:
* Ammeter * Voltmeter * Galvanometer  * Avometer
(18) To convert a galvanometer into a voltmeter a resistance is connected in:
* ngh resistance in series = . - * Low resxstance in parallel
* High resistance in paraliel . *\Low resistance in series
(19) To convert a galvanometer into a voitmetér the high resistance is given by: .

R -V I-1y, ) \% .
4 . *Rx_—_ & "‘RX=-——‘Rlg R —RY—
(-L) LRy L f, g

*RX=

(20) In order to increase the range of voltmeter the high resistance is:
* Decreaséd * Increased * Kept constant
_* Sometime increased and some time decreased
(21) Ina éircuit, vgltmetcr is always connected in:
* Seriés : ' ¥ Parallel
* Both series and parallel % None of thesé
(22) A good voltmeter is one which:
* Can measure both A.C and D.C * Has linear side of measurement
* Has very small internal resistance’  * Has very high internal resistance

Wheatstone Bridge:
(23) A balanced Wheatstone bridge is used to measure:
o * Current * Voltage
* Unknown resistance * Electric flux
(24) When Wheatstone bridge is balanced then: )
* Galvanometer is giving full deflection
* Galvanometer’s deflection is zero
*R,/Ry>R; /Ry *R,/R;<R;i/R;
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(25) Wheatstone bridge is an arrangement consisting of:
* Three resistances * Two resistances  * Four resistances * Five resistances
(26) The condition for the Wheatstone Bridge to be balanced is given by:
« R _Ry » Ry Ry *» Ry Ry xR Ry

3 2

R, R, R, R, R, R, R, R,

(27) In a Wheatstone Bridge circuit we balance:

* Resistance * Current * Voltage * All of these

(28) Balanced position of wheatstone bridge is obtained when potential at the terminals
of Galvanometer: :
* is same * is altered * is different * is established

(29) A meter bridge is an apparatus used to measure the: (2013)
** Current * Voltage. * Magnetic field ~* Unknown resistance
(30) A meter bridge also called: '
* Voltmeter * Ammeter " * Galvanometer * Slide-wire bridge
(31) The construction of meter bridge is based an the principle of a: |
, * Voltmeter * Ammeter * A.C generator * Wheatstone bridge ‘
(32) Slide-wire bridge is a practical form of the:
* Galvanometer * Post office box - *Voltmeter .~ * Wheatstone bridge ’.

(33) In Slide-wire bridge method, the unknown resistance is determined b)‘/the relation:

*x:%R *x:%R : fx:ﬁl!zz | *_X:7?l’:
Post Office Box:
(34) P.O. Box is used.to.find:

* Current * Resistance. o em.f. * All of these

(35) The working principle of a post office box is:
* Wheatstone Bridge * Potentiometer ~ * Telegraph line’ '~ * None of these vv ‘
(36) Postoffice is a practical form of: B ’ i - S :
*Ammeter - * Voltmeter * Meter bridge : * Wheatstone bridge

(37) Which one of the following instrument can measure the unknown resistance which
sufficient accuracy?

* Potentiometer * Slide wire bridge * Post office box o Galvanometer

(38) Three arms of a balanced post office box are 75 ohm resistanc‘:'ei cach. What is the
resistanes-of the fourth arm? ; R

* 225 ohm * 150 ohm *750hm -+ * 300 ohm
Potentiomgter, Ohmmeter, Avometer: '
(39) A.paptenliemeter is an instrument used to measure:

* Current * Voltage * Resistance * Electric flux
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(40) An mstrummt which measures potential without drawing any current from the circuit is
known as:

* Voltmeter * Avometer * Potentiometer * Galvanometer
(41) A potentiometer circuit give continuously varying:
* Potential difference * Capacitance
* Charge - o * Inductance
. (42)v "The apparatus used to compare the emf of two cell is:
~* A Wheatstone bridge * A galvanometer
* A»po_teniiomevter * A ammeter
(43) Which one of the following is used to determine internal resistance of a cell?
* Ammeter o Voltmeter * Galvanometer * Potentiometer
(44) Potentiometer can be used as:
. ¥ Ammeter * Voltmeter * Galvanometer * Potential divider
(45) Potentiometer is used to: ~ (2003 P.M) ) ‘
* Compare emfoftwo cell _ * Detect intetnal resistance of cell
o * Mea.s‘ure P.D * All ofthese »
(46) To mcrease the accuracy of potentiometer: (2011 2003 P. E)
o A uniform wire of a large length should\be used
* A uniform ¥ wire of a small length should be used
* A non uniform wire should be used
‘ * None of these
Miscellaneous:
(47) An Avometer is a deyice which can measure: (2012, 2002 P. E)
* Voltage only S R * Current only
o Re51stance only .-~ o * Current, Voltage and Resistance

(48) Which of followmg instruments is used to measure current potential dliference and
: resistance:

* Ammeter * Voltmeter * Galvanometer * Avometer

(49) A single device containing ammeter voltmeter and ohmmeter is. called:

* VITVM * CRO * Potentiometer * Multimeter
(50) AVO meter is used to find: .
* Current . *.Resistance * e.m.f. - * All of these

(51)  Which of the following device is not used for measuring resistance:
~ *P.0O. Box * Potentiometer  * Ohmmeter * Meter bridge
(52) Which of the following can be used to measure the resistance:

* Ohm meter * Meter bridge - * P.O Box * All of these



(53)

(54

(33)

(56)

(57)

(58)

(59)

(60)

(61)

(62)

(63)
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The process of reducing amplitude of vibration of coil of Galvanometer is called:

* Drifting * Doping * Shunting * Dampiﬁg

If the length of the wire of potentiometer is increased, the accuracy in the determination
of null point:

* [ncreases * Decreases * Remains the same * Becomes Zero
A moving coil galvanometer is converted into an ammeter by connecting to it:
* Low resistance in series -* High resistance in series

* High resistance in parallel * Low resistance in parallel
Galvanometer can be converted into voltmeter by connecting:

* A high resistance in series *A lo.w resistance in series

* A hlgh resistance in parallel * A low re51stance in parallel

Sensmwty of Galvanometer is given by:

* CBAN * ! , x« _C , + BAN
CBAN BAN - C

The device which makes use of wheatstone bridge is:

* Meter bridge o Voltmeter * Ohmmeter ) * Potentiometer

The device which can measure e.m.f. of cells without drawing current from them is called:
* Potentiometer  * Meter bridge *Voltmeter * Ohmineter

In a circuit Voltmeter is always connected in:

* Series : % * Parallel

* Both Series and Parallel ' * None of these - -
To increase the accuracy.of a p’otehtiometer: S

* A uniform wire ofa small.length should be used

* Thickness of wire will be increased o

* Thickness of wire will be decreased

*A umform wire of a large length should be used .
Thedeflection of coil of Galvanometer is directly proportlonal to: ’

¥ Resnstance of Coil P * Strength ofmagnetlc field o

_ * Current passing through coxl CV% Area of coxl

For Balanced Posmon of wheatstone brrdge
SRR LRy Ry

*R =R;R * RiR; = R3R
R, R, R, R, 1R4 = RyR; RiRz = R3R4
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ANSWER KEY

1. Galvanometer

2. Torque exerted on the coil

34. Resistance

3. Magnetic effect of current

35. Wheatstone bridge

4. Directly proportional to the angle of
deflection of the coil

36. Wheatstone bridge

5.C/NAB 37. Post Office Box
6. Small . 38. 75 ohm
7. All of them 139, Voltage

( 8.C 40. Potentiometer .

9. Division

41. Potential difference

10. Equal to the restoring couple

42. A potentiometer

11. Ammeter

43. Potentiometer

12. Low resistance in paréllel :

44. Potential divider

IR
13, Ry = Lo

45, All ofthese

14. Decreased

46. A uniform wire of a large length
should be used

15. Series

47. Current, Voltage and Resistance

16. Has very small internal resistance

48. Avometer

“17. Voltmeter

49, Multimeter 7

18. High resistance in series

50. All of these

Y _r

19. Rx=[—g— .

51. Potentiometer

20. Increased

52. All of these

21. Parallel

53. Damping

| 22. Has very high internal resistance

54. Increases

23. Unknown resistance

55 Low resistance in parallel.

56. A high resistance in series

24. Galvanometer’s deflection is zero

C

"25. Four resistances 7o —
‘ BAN
R R :
26, L -3 i
R, R, 58. Meter bridge
27. Voliage 59. Voitmeter
28. Is same 60. Parallel

29. Unkndwn Resistance

61. A uniform wire of large length

30. Slide-wire bridge

62. Current passing through the coil

31. Wheatstone bridge

63. R]R4 = RJRz

32. Wheatstone bridge
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